PAPER -1: FINANCIAL REPORTING
QUESTIONS
Analysis of Financial Statements/ Ind AS 101

1. HIM Limited having net worth of ¥ 250 crores is required to adopt Ind AS from
1 April, 20X2 in accordance with the Companies (Indian Accounting Standard) Rules

2015.

Rahul, the senior manager, of HIM Ltd. has identified following issues which need
specific attention of CFO so that opening Ind AS balance sheet as on the date of
transition can be prepared:

Issue 1 : As part of Property, Plant and Equipment, Company has elected to measure
land at its fair value and want to use this fair value as deemed cost on the date of
transition. The carrying value of land as on the date of transition was ¥ 5,00,000. The
land was acquired for a consideration of ¥ 5,00,000. However, the fair value of land as
on the date of transition was ¥ 8,00,000.

Issue 2: Under Ind AS, the Company has designated mutual funds as investments at
fair value through profit or loss. The value of mutual funds as per previous GAAP was
T 4,00,000 (at cost). However, the fair value of mutual funds as on the date of transition
was ¥ 5,00,000.

Issue 3 : Company had taken a loan from another entity. The loan carries an interest
rate of 7% and it had incurred certain transaction costs while obtaining the same. It was
carried at cost on its initial recognition. The principal amount is to be repaid in equal
instalments over the period of loan. Interest is also payable at each year end. The fair
value of loan as on the date of transition is ¥ 1,80,000 as against the carrying amount of
loan which at present equals ¥ 2,00,000.

Issue 4 : The company has declared dividend of ¥ 30,000 for last financial year. On the
date of transition, the declared dividend has already been deducted by the accountant
from the company’'s ‘Reserves & Surplus’ and the dividend payable has been grouped
under ‘Provisions’. The dividend was only declared by board of directors at that time and
it was not approved in the annual general meeting of shareholders. However,
subsequently when the meeting was held it was ratified by the shareholders.

Issue 5 : The company had acquired intangible assets as trademarks amounting to
T 2,50,000. The company assumes to have indefinite life of these assets. The fair value
of the intangible assets as on the date of transition was ¥ 3,00,000. However, the
company wants to carry the intangible assets at ¥ 2,50,000 only.

Issue 6 : After consideration of possible effects as per Ind AS, the deferred tax impact is
computed as ¥ 25,000. This amount will further increase the portion of deferred tax
liability. There is no requirement to carry out the separate calculation of deferred tax on
account of Ind AS adjustments.
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2 FINAL (NEW) EXAMINATION: MAY, 2021

Management wants to know the impact of Ind AS in the financial statements of company
for its general understanding.

Prepare Ind AS Impact Analysis Report (Extract) for HIM Limited for presentation to the
management wherein you are required to discuss the corresponding differences between
Earlier IGAAP (AS) and Ind AS against each identified issue for preparation of transition
date balance sheet. Also pass journal entry for each issue.

Ind AS 2

2. On1 January 20X1 an entity accepted an order for 7,000 custom-made corporate gifts.

On 3 January 20X1 the entity purchased raw materials to be consumed in the production
process for ¥ 5,50,000, including ¥ 50,000 refundable purchase taxes. The purchase
price was funded by raising a loan of ¥ 5,55,000 (including ¥ 5,000 loan-raising fees).
The loan is secured by the inventories.

During January 20X1 the entity designed the corporate gifts for the customer.
Design costs included:

e  cost of external designer =3 7,000; and

e |abour =¥ 3,000.

During February 20X1 the entity's production team developed the manufacturing
technique and made further modifications necessary to bring the inventories to the
conditions specified in the agreement. The following costs were incurred in the testing
phase:

e materials, net of ¥ 3,000 recovered from the sale of the scrapped output
=3 21,000;

e labour = ¥11,000; and
e depreciation of plant used to perform the modifications = ¥ 5,000.

During February 20X1 the entity incurred the following additional costs in manufacturing
the customised corporate gifts:

e consumable stores =¥ 55,000;

e |abour =% 65,000; and
e depreciation of plant used to manufacture the customised corporate gifts =
T 15,000.

The customised corporate gifts were ready for sale on 1 March 20X1. No abnormal
wastage occurred in the development and manufacture of the corporate gifts.

Compute the cost of the inventory? Substantiate your answer with appropriate reasons
and calculations, wherever required.
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Ind AS 8

3. In 20X3-20X4, after the entity's 31 March 20X3 annual financial statements were
approved for issue, a latent defect in the composition of a new product manufactured by
the entity was discovered (that is, a defect that could not be discovered by reasonable or
customary inspection). As a result of the latent defect the entity incurred ¥100,000 in
unanticipated costs for fulfilling its warranty obligation in respect of sales made before 31
March 20X3. An additional 20,000 was incurred to rectify the latent defect in products
sold during 20X3-20X4 before the defect was detected and the production process
rectified, 5,000 of which relates to items of inventory at 31 March 20X3. The defective
inventory was reported at cost ¥ 15,000 in the 20X2-20X3 financial statements when its
selling price less costs to complete and sell was estimated at ¥18,000. The accounting
estimates made in preparing the 31 March 20X3 financial statements were appropriately
made using all reliable information that the entity could reasonably be expected to have
been obtained and taken into account in the preparation and presentation of those
financial statements.

Analyse the above situation in accordance with relevant Ind AS.
Ind AS 38

4. PQR Ltd. is a gaming developer company. Few years back, it developed a new game
called 'Cloud9. This game sold over 10,00,000 copies around the world and was
extremely profitable. Due to its popularity, PQR Ltd. released a new game in the
‘Cloud9’ series every year. The games continue to be the bestseller. Based on
Management's expectations, estimates of cash flow projections for the ‘cloud9
videogame series’ over the next five years have been prepared. Based on these
projections, PQR Ltd. believes that cloud9 series brand should be recognised at
INR 20,00,000 in its financial statement. PQR Ltd. has also paid INR 10,00,000 to MNC
Ltd. to acquire rights of another video game series called the ‘Headspace’ videogame
series. The said series have huge demand in the market.

Discuss the accounting treatment of the above in the financial statements of PQR Ltd.
Ind AS 37 / Ind AS 115

5. A manufacturer gives warranties to the purchasers of its goods. Under the terms of the
warranty, the manufacturer undertakes to make good, by repair or replacement,
manufacturing defects that become apparent within three years from the date of sale to
the purchasers.

On 30 April 20X1, a manufacturing defect was detected in the goods manufactured by
the entity between 1 March 20X1 and 30 April 20X1.

At 31 March 20X1 (the entity’s reporting date), the entity held approximately one week’s
sales in inventories.
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The entity’s financial statements for the year ended 31 March 20X1 have not yet been
finalised.

Three separate categories of goods require separate consideration:
Category 1—defective goods sold on or before 31 March 20X1
Category 2—defective goods held on 31 March 20X1

Category 3—defective goods manufactured in 20X1-20X2

State the accounting treatment of the above categories in accordance with relevant
Ind AS.

Ind AS 16
6. An entity has the following items of property, plant and equipment:

e Property A — a vacant plot of land on which it intends to construct its new
administration headquarters;

e  Property B — a plot of land that it operates as a landfill site;

e Property C — a plot of land on which its existing administration headquarters are
built;

e  Property D — a plot of land on which its direct sales office is built;

e  Properties E1-E10 — ten separate retail outlets and the land on which they are
built;

e  Equipment A — computer systems at its headquarters and direct sales office that
are integrated with the point of sale computer systems in the retail outlets;

e  Equipment B — point of sale computer systems in each of its retail outlets;

e  Furniture and fittings in its administrative headquarters and its sales office;

e  Shop fixtures and fittings in its retail outlets.

How many classes of property, plant and equipment must the entity disclose?
Ind AS 23 /Ind AS 109

7. How will you capitalise the interest when qualifying assets are funded by borrowings in
the nature of bonds that are issued at discount?

Y Ltd. issued at the start of year 1, 10% (interest paid annually and having maturity
period of 4 years) bonds with a face value of ¥ 2,00,000 at a discount of 10% to finance a

qualifying asset which is ready for intended use at the end of year 2.

Compute the amount of borrowing costs to be capitalized if the company amortizes
discount using Effective Interest Rate method by applying 13.39% p.a. of EIR.
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Ind AS 7
8.  From the following data, identify the nature of activities as per Ind AS 7.
S.no. | Nature of transaction
1 Cash paid to employees
2 Cash paid for development of property costs
3 Borrowings repaid
4 Cash paid to suppliers
5 Loan to Director
6 Bonus shares issued
7 Dividends paid
8 Cash received from trade receivables
9 Proceeds from sale of PPE
10 Depreciation of PPE
1 Advance received from customers
12 Purchased goodwill
13 Payment of promissory notes

Ind AS 40

9. X Ltd owned a land property whose future use was not determined as at

31 March 20X1. How should the property be classified in the books of X Ltd as at

31 March 20X1?

During June 20X1, X Ltd commenced construction of office building on it for own use.

Presuming that the construction of the office building will still be in progress as at

31 March 20X2

(@) How should the land property be classified by X Ltd in its financial statements as at
31 March 20X2?

(b) Wil there be a change in the carrying amount of the property resulting from any
change in use of the investment property?

(c) Whether the change in classification to, or from, investment properties is a change
in accounting policy to be accounted for in accordance with Ind AS 8, Accounting
Policies, Changes in Accounting Estimates and Errors?

(d) Would your answer to (a) above be different if there were to be a management
intention to commence construction of an office building for own use; however, no
construction activity was planned by 31 March 20X2?
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Ind AS 115
10. A property sale contract includes the following:

(@) Common areas

)
b)
c) Property management services

(
(
(d
(
(

Construction services and building material

) Golf membership
)
f) Land entitlement

Analyse whether the above items can be considered as separate performance
obligations as per the requirements of Ind AS 1157

Ind AS 116

11. Entity X is an Indian entity whose functional currency is Indian Rupee. It has taken a
plant on lease from Entity Y for 5 years to use in its manufacturing process for which it
has to pay annual rentals in arrears of USD 10,000 every year. On the commence ment
date, exchange rate was USD = ¥ 68. The average rate for Year 1 was ¥ 69 and at the
end of year 1, the exchange rate was ¥ 70. The incremental borrowing rate of Entity X on
commencement of the lease for a USD borrowing was 5% p.a.

How will entity X measure the right of use (ROU) asset and lease liability initially and at
the end of Year 1?
Ind AS 102

12. Company P is a holding company for company B. A group share-based payment is being
organized in which Parent issues its own equity shares to the employees of company B.

The details are as below -

e) Car park

Number of Employees of Company B 100
Grant date fair value of share T 87
Number of shares granted to each employee 25
Vesting conditions Immediately
Face value per share %10

Pass the journal entries in the books of company P & company B.

Ind AS 103

13. Bima Ltd. acquired 65% of shares on 1 June, 20X1 in Nafa Ltd. which is engaged in
production of components of machinery. Nafa Ltd. has 1,00,000 equity shares of ¥ 10
each. The quoted market price of shares of Nafa Ltd. was ¥ 12 on the date of
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acquisition. The fair value of Nafa Ltd.'s identifiable net assets as on 1 June, 20X1 was
% 80,00,000.

Bima Ltd. wired ¥ 50,00,000 in cash and issued 50,000 equity shares as purchase
consideration on the date of acquisiton. The quoted market price of shares of
Bima Ltd. on the date of issue was ¥ 25 per share.

Bima Ltd. also agrees to pay additional consideration of ¥ 15,00,000, if the cumulative
profit earned by Nafa Ltd. exceeds ¥ 1 crore over the next three years. On the date of
acquisition, Nafa Ltd. assessed and determined that it is considered probable that the
extra consideration will be paid. The fair value of this consideration on the date of
acquisition is ¥ 9,80,000. Nafa Ltd. incurred ¥ 1,50,000 in relation to the acquisition. It
measures Non-controlling interest at fair value.

How will the acquisition of Nafa Ltd. be accounted by Bima Ltd., under Ind AS 103?
Prepare detailed workings and pass the necessary journal entry.

Ind AS 41

14. Analyse whether the following activities fall within the scope of Ind AS 41 with proper
reasoning:

= Managing animal-related recreational activities like Zoo

=  Fishing in the ocean

= Fish farming

= Development of living organisms such as cells, bacteria and viruses

= Growing of plants to be used in the production of drugs

= Purchase of 25 dogs for security purpose of the company’s premises.
Ind AS 109

15. On 1 April 20X1, Sun Limited guarantees a ¥10,00,000 loan of Subsidiary — Moon
Limited, which Bank STDK has provided to Moon Limited for three years at 8%.

Interest payments are made at the end of each year and the principal is repaid at the end
of the loan term.
If Sun Limited had not issued a guarantee, Bank STDK would have charged Moon

Limited an interest rate of 11%. Sun Limited does not charge Moon Limited for providing
the guarantee.

On 31 March 20X2, there is 1% probability that Moon Limited may default on the loan in
the next 12 months. If Moon Limited defaults on the loan, Sun Limited does not expect to
recover any amount from Moon Limited.
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On 31 March 20X3, there is 3% probability that Moon Limited may default on the loan in
the next 12 months. If Moon Limited defaults on the loan, Sun Limited does not expect to
recover any amount from Moon Limited.

Provide the accounting treatment of financial guarantee as per Ind AS 109 in the books
of Sun Ltd., on initial recognition and in subsequent periods fill 31 March 20X3.
Ind AS 1
16. An entity has the following trial balance line items. How should these items be classified,
i.e., current or non-current as per Ind AS 1?
(@) Receivables (viz., receivable under a contract of sale of goods in which an entity
deals)
(b) Advance to suppliers
(c) Income tax receivables [other than deferred tax]
(d) Insurance spares
Ind AS 21 & Ind AS 103

17. Monsoon Limited acquired, on 30 September, 20X2, 70% of the share capital of
Mark Limited, an entity registered as company in Germany. The functional currency of
Monsoon Limited is Indian Rupee and its financial year ends on 31 March, 20X3.

The fair value of the net assets of Mark Limited was 23 million EURO and the purchase
consideration paid is 17.5 million EURO on 30 September, 20X2.

The exchange rates as on 30 September, 20X2 was ¥ 82 per EURO and at
31 March, 20X3 was ¥ 84 per EURO.

On acquisition of Mark limited, what is the value at which the goodwill / capital reserve
has to be recognized in the financial statements of Monsoon Limited as on
31 March 20X3?

Ind AS 19

18. At 1 April, 20X0, the fair value of the Plan Assets was ¥ 10,00,000. The Plan paid
benefits of ¥ 190,000 and received contributons of I 490,000 on
30 September, 20X0. The company computes the Fair Value of Plan Assets to be
% 15,00,000 as on 31 March, 20X1 and the Present Value of the Defined Benefit
Obligation to amount to ¥ 14,79,200 on the same date. Actuarial losses on defined
benefit obligation were ¥ 6,000.

Compounding happens half-yearly. The normal interest rate for 6 months period is 10%
per annum, while the effective interest rate for 12 months period is based on the
following data:
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At 1 April, 20X0, the company made the following estimates based on market prices at

that date:

Particulars %
Interest and Dividend Income, after tax payable by the fund 9.25
Add: Realized and Unrealized Gains on Plan Assets (after tax) 2.00
Less: Administration Costs 1.00
Expected Rate of Return 10.25

Determine actual return and expected return on plan asset. Also compute amount to be
recognized in ‘Other Comprehensive Income’ in this case.

Ind AS 12

19. The entity has an identifiable asset ASSOTA with a carrying amount of ¥ 10,00,000. Its
recoverable amount is ¥ 6,50,000. The tax base of ASSOTA is ¥ 8,00,000 and the tax
rate is 30%. Impairment losses are not tax deductible. Entity expects to continue to earn
profits in future.

For the identifiable asset ASSOTA, what would be the impact on the deferred tax asset/
liability at the end of the period?

Ind AS 36

20. On 31 March 20X1, Vision Ltd acquired 80% of the equity shares of Mission Ltd for
T 190 million. The fair values of the net assets of Mission Ltd that were included in the
consolidated statement of financial position of Vision Ltd at 31 March 20X1 were
T 200 million. 1t is the Group’s policy to value the non-controlling interest in subsidiaries
at the date of acquisition at its proportionate share of the fair value of the subsidiaries’
identifiable net assets.

On 31 March 20X4, Vision Ltd carried out its annual review of the goodwill on
consolidation of Mission Ltd and found evidence of impairment. No impairment had been
evident when the reviews were carried out at 31 March 20X2 and
31 March 20X3. The review involved allocating the assets of Mission Ltd into three cash-
generating units and computing the value in use of each unit. The carrying values of the

individual units before any impairment adjustments are given below:

Unit A Unit B Unit C

< in million < in million < in million

Intangible assets 30 10 -
Property, Plant and Equipment 80 50 60
Current Assets 60 30 40
Total 170 90 100
Value in use of unit 180 66 104
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It was not possible to meaningfully allocate the goodwill on consolidation to the individual
cash generating units but all the other net assets of Mission Ltd are allocated in the table
shown above.

The intangible assets of Mission Ltd have no ascertainable market value but all the
current assets have a market value that is at least equal to their carrying value. The
value in use of Mission Ltd as a single cash-generating unit on 31 March 20X4 is
T 350 million.

Discuss and compute the accounting treatment of impairment of goodwill as per
Ind AS 367

SUGGESTED ANSWERS
1. Preliminary Impact Assessment on Transition to Ind AS in HIM Limited’s Financial

Statements

Issue 1: Fair value as deemed cost for property plant and equipment:

Accounting Standards Ind AS Impact on Company’s
(Erstwhile IGAAP) financial statements

As per AS 10, Property, | Ind AS 101 allows entity | The company has decided
Plant and Equipment is | to elect to measure | to adopt fair value as
recognised at cost less | Property, Plant and | deemed cost in this case.
depreciation. Equipment on  the | Since fair value exceeds
transition date at its fair | book value, so the book
value or previous GAAP | value should be brought up
carrying value (book | to fair value. The resulting
value) as deemed cost. impact of fair valuation of
land ¥ 3,00,000 should be
adjusted in other equity.

Journal Entry on the date of transition

Particulars Debit (%) Credit (%)
Property Plant and Equipment Dr. 3,00,000

To Revaluation Surplus (OCI- Other Equity) 3,00,000
Issue 2: Fair valuation of Financial Assets:
Accounting Standards | Ind AS Impact on Company’s
(Erstwhile IGAAP) financial statements
As  per  Accounting | On transition, financial | All financial assets (other
Standard,  investments | assets including | than Investment in
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are measured at lower of | investments are | subsidiaries, associates and

cost and fair value. measured at fair values | Jys' which are recorded at
exge%t_ for mvestmenltstln cost) are initially recognized
subsidiaries, ~ associates | it \oie

and JVs' which are
recorded at cost. The subsequent
measurement of such assets

are based on its
categorization  either  Fair
Value through Profit & Loss
(FVTPL) or Fair Value
through Other
Comprehensive Income
(FVTOCI) or at Amortised
Cost based on business
model  assessment  and
contractual cash flow
characteristics.

Since investment in mutual
fund are designated at
FVTPL, increase of
% 1,00,000 in mutual funds
fair value would increase the
value of investments with
corresponding increase to
Retained Earnings.

Journal Entry onthe date of transition

Particulars Debit (%) Credit %)
Investment in mutual funds Dr. 1,00,000
To Retained earnings 1,00,000
Issue 3: Borrowings - Processing fees/transaction cost:
Accounting Standards | Ind AS Impact on Company’s
(Erstwhile IGAAP) financial statements

As per AS, such|As per Ind AS, such | Fairvalue as on the date of
expenditure is charged | expenditure is amortised | transition is ¥ 1,80,000 as
to Profit and loss | over the period of the loan. | against its book value of
account or capitalised | |nd AS 101 states that if it | ¥ 2,00,000.  Accordingly,
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as the case may be is impracticable for an | the difference of ¥ 20,000 is
entity to apply | adjusted through retained
retrospectively the effective | earnings.
interest method in Ind AS
109, the fair value of the
financial asset or the
financial liability at the date
of transition to Ind AS shall
be the new gross carrying
amount of that financial
asset or the new amortised
cost of that financial
liability.
Journal Entry onthe date of transition
Particulars Debit (%) Credit ()
Borrowings / Loan payable Dr. 20,000
To Retained earnings 20,000
Issue 4: Proposed dividend:
Accounting Ind AS Impact on Company’s financial
Standards statements
(Erstwhile IGAAP)
As per AS, provision | As per Ind AS, | Since dividend should be deducted

for proposed divided
is made in the year
when it has been
declared and

liability for proposed
dividend is
recognised in the
year in which it has

from retained earnings during the year

when
approved.
declared for preceding year

it has been declared and
Therefore, the provision

should be

approved. been declared and | reversed (to rectify the wrong entry).
approved. Retained earnings would increase
proportionately  due to  such
adjustment
Journal Entry on the date of transition

Particulars Debit (%) Credit %)

Provisions Dr. 30,000
To Retained earnings 30,000
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Issue 5: Intangible assets:
Accounting Standards | Ind AS Impact on
(Erstwhile IGAAP) Company’s financial
statements

The useful life of an intangible | The wuseful life of an | Consequently, there
asset cannot be indefinite | intangible  asset like | would be no impact as
under IGAAP principles. The | brand/ffrademark can be | on the date of
Company amortised | indefinite. Not required to | transition since
brand/trademark on a straight | be amortised and only | company intends to
line basis over maximum of 10 | tested for impairment. use the  carrying
years as per AS 26. Company can avail the | amount instead of

exemption given in Ind AS | book value at the date

101 as on the date of | of fransition.

transiton to use the

carrying value as per

previous GAAP.
Issue 6: Deferred tax
Accounting  Standards | Ind AS Impact on Company’s

(Erstwhile IGAAP)

financial statements

As per AS, deferred taxes

As per Ind AS, deferred

On date of transition to

are accounted as per | taxes are accounted as | Ind AS, deferred tax
income statement | per balance sheet | liability would be
approach. approach. increased by ¥ 25,000.
Journal Entry on the date of transition
Particulars Debit (%) Credit (%)
Retained earnings Dr. 25,000
To Deferred tax liability 25,000

Statement showing computation of inventory cost

Particulars

Amount

®)

Remarks

Costs of purchase

5,00,000
price

Purchase price of raw material [purchase
(X 5,50,000)
purchase taxes (3 50,000)]

less refundable

Loan-raising fee

— | Included
liability

in the measurement of the
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Costs of purchase 55,000 | Purchase price of consumable stores

Costs of conversion 65,000 | Direct costs—labour

Production overheads 15,000 | Fixed costs—depreciation

Production overheads 10,000 | Product design costs and labour cost for
specific customer

Other costs 37,000 | Refer working note

Borrowing costs - | Recognised as an expense in profit or
loss

Total cost of inventories 6,82,000

Working Note:
Costs of testing productdesigned for specific customer:

T 21,000 material (ie net of the T 3,000 recovered from the sale of the scrapped output) +
¥ 11,000 labour + % 5,000 depreciation.

3. Ind AS 8 is applied in selecting and applying accounting policies, and accounting for

changes in accounting policies, changes in accounting estimates and corrections of prior
period errors.
A change in accounting estimate is an adjustment of the carrying amount of an asset or a
liability, or the amount of the periodic consumption of an asset. This change in
accounting estimate is an outcome of the assessment of the present status of, and
expected future benefits and obligations associated with, assets and liabilities. Changes
in accounting estimates result from new information or new developments and,
accordingly, are not corrections of errors.

Further, the effect of change in an accounting estimate, shall be recognised prospectively
by including it in profit or loss in: (a) the period of the change, if the change affects that
period only; or (b) the period of the change and future periods, if the change affects both.

Prior period errors are omissions from, and misstatements in, the entity’s financial
statements for one or more prior periods arising from a failure to use, or misuse of,
reliable information that:

(@) was available when financial statements for those periods were approved for issue;
and

(b) could reasonably be expected to have been obtained and taken into account in the
preparation and presentation of those financial statements.

Such errors include the effects of mathematical mistakes, mistakes in applying
accounting policies, oversights or misinterpretations of facts, and fraud.

On the basis of above provisions, the given situation would be dealt as follows:
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The defect was neither known nor reasonably possible to detect at 31 March 20X3 or
before the financial statements were approved for issue, so understatement of the
warranty provision ¥ 1,00,000 and overstatement of inventory ¥ 2,000 (Note 1) in the 31
March 20X3 financial statements are not a prior period errors.

The effects of the latent defect that relate to the entity's financial position at
31 March 20X3 are changes in accounting estimates.

In preparing its financial statements for 31 March 20X3, the entity made the warranty
provision and inventory valuation appropriately using all reliable information that the
entity could reasonably be expected to have obtained and had taken into account the
same in the preparation and presentation of those financial statements.

Consequently, the additional costs are expensed in calculating profit or loss for
20X3-20X4.

Working Note:

Inventory is measured at the lower of cost (ie ¥ 15,000) and fair value less costs to
complete and sell (ie ¥ 18,000 originally estimated minus ¥ 5,000 costs to rectify latent
defect) =¥ 13,000.

4. In order to determine the accounting treatment of ‘cloud9 videogame series’ and
‘Headspace’, definition of asset and intangible asset given in Ind AS 38 may be noted:

‘An asset is a resource:

(@) controlled by an entity as a result of past events; and

(b) from which future economic benefits are expected to flow to the entity.”

“‘An intangible asset is an identifiable non-monetary asset without physical substance.”

In accordance with the above, for recognising an intangible asset, an entity must be able
to demonstrate that the item satisfies the criteria of identifiability, control and existence of
future economic benefits.

In order to determine whether ‘cloud9 videogame series’ meet the aforesaid conditions,
following provisions of Ind AS 38 regarding Internally Generated Intangible Assets may
be noted:

As per paragraph 63 and 64 of Ind AS 38, internally generated brands, mastheads,
publishing titles, customer lists and items similar in substance should not be recognised
as intangible assets. Expenditure on such items cannot be distinguished from the cost of
developing the business as a whole. Therefore, such items are not recognised as
intangible assets.

Accordingly, though the cash flow projections suggest that the cloud9 brand will lead to
future economic benefits, yet the asset has been internally generated; therefore, the
Cloud9 brand cannot be recognised as intangible asset in the financial statements.
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In order to determine whether ‘Headspace’ meet the aforesaid conditions, following
provisions of Ind AS 38 regarding ‘Separately acquired Intangible Assets’ should be
analused.

As per paragraphs 25 and 26 of Ind AS 38, normally, the price an entity pays to acquire
separately an intangible asset will reflect expectations about the probability that the
expected future economic benefits embodied in the asset will flow to the entity. In other
words, the entity expects there to be an inflow of economic benefits, even if there is
uncertainty about the timing or the amount of the inflow. Therefore, the probability
recognition criterion in paragraph 21(a) is always considered to be satisfied for
separately acquired intangible assets. In addition, the cost of a separately acquired
intangible asset can usually be measured reliably. This is particularly so when the
purchase consideration is in the form of cash or other monetary assets.

The Headspace game has been purchased for INR 10,00,000 and it is expected to
generate future economic benefits to the entity. Since Headspace game is a separately
acquired asset and the future benefits are expected to flow to the entity, therefore, an
intangible asset should be recognised in respect of the ‘Headspace’ asset at its cost of
INR 10,00,000. After initial recognition, either cost model or revaluation model can be
used to measure headspace intangible asset as per guidance given in paragraphs
74-87 of Ind AS 38. In accordance with this, Headspace intangible asset should be
carried at its costrevalued amount (as the case may be) less any accumulated
amortisation and any accumulated impairment losses.

5. Category 1—defective goods sold on or before 31 March 20X1

If customer has the option to purchase warranty separately, the warranty is a distinct
service because the entity promises to provide the service to the customer in addition to
the product that has the functionality described in the contract. In that case, entity shall
account for the promised warranty as a performance obligation and allocate a portion of

the transaction price to that performance obligation.

If a customer does not have the option to purchase a warranty separately, an entity shall
account for the warranty in accordance with Ind AS 37, Provisions, Contingent Liabilities
and Contingent Assets, unless it provides the customer with a service in addition to the
assurance that the product complies with agreed-upon specifications. If that is the case,
then, the promised service is a performance obligation. Entity shall allocate the
transaction price to the product and the service.

If an entity promises both an assurance-type warranty and a service-type warranty but
cannot reasonably account for them separately, the entity shall account for both of the
warranties together as a single performance obligation.

A law that requires an entity to pay compensation if its products cause harm or damage
does not give rise to a performance obligation. The entity shall account for such
obligations in accordance with Ind AS 37.
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Category 2—defective goods held on 31 March 20X1

At 31 March 20X1, the entity did not have a present obligation to make good the unsold
defective goods that it held in inventories. Accordingly, at 31 March 20X1 the entity
should not recognise a provision in respect of the defective inventories.

For this category, the detection of the manufacturing defect in April 20X1 is an adjusting
event after the end of the reporting period as per Ind AS 10, Events after the End of the
Reporting Period. It provides evidence of a manufacturing defect in inventories held at 31

March 20X1.
Category 3—defective goods manufactured in 20X1-20X2

At 31 March 20X1 the entity did not have a present obligation to make good any
defective goods that it might manufacture in the future. Accordingly, at 31 March 20X1
the entity should not recognise a provision in respect of the defective goods

manufactured in 20X1-20X2.

For this category, the detection of the manufacturing defect in April 20X1 is a non-
adjusting event after the end of the reporting period as per Ind AS 10, Events After the
End of the Reporting Period.

6. Toanswer this question one must make a materiality judgement.

A class of assets is defined as a grouping of assets of a similar nature and use in an
entity’s operations.

The nature of land without a building is different to the nature of land with a building.

Consequently, land without a building is a separate class of asset from land and
buildings. Furthermore, the nature and use of land operated as a landfill site is different
from vacant land. Hence, the entity should disclose Property A separately. The entity
must apply judgement to determine whether the entity’s retail outlets are sufficiently
different in nature and use from its office buildings, and thus constitute a separate class
of land and buildings.

The computer equipment is integrated across the organisation and would probably be
classified as a single separate class of asset.
Furniture and fittings used for administrative purposes could be sufficiently different to

shop fixtures and fittings in retail outlets. Hence, they should be classified in two
separate classes of assets.

7. Capitalisation Method

As per the Standard, borrowing costs may include interest expense calculated using the
effective interest method. Further, capitalisation of borrowing cost should cease where
substantially all the activities necessary to prepare the qualifying asset for its intended
use or sale are complete.
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Thus, only that portion of the amortized discount should be capitalised as part of the cost
of a qualifying asset which relates to the period during which acquisition, construction or

production of the asset takes place.
Capitalisation of Interest

Hence based on the above explanation the amount of borrowing cost of year 1 & 2 are to
be capitalised and the borrowing cost relating to year 3 & 4 should be expensed.

Quantum of Borrowing

The value of the bond to Y Ltd. is the transaction price ie ¥ 1,80,000 (2,00,000 - 20,000)
Therefore, Y Ltd will recognize the borrowing at ¥ 1,80,000.

Computation of the amount of Borrowing Cost to be Capitalised

Y Ltd will capitalise the interest (borrowing cost) using the effective interest rate of
13.39% for two years as the qualifying asset is ready for intended use at the end of the

year 2, the details of which are as follows:

Year | Opening Interest expense @ Total Interest Closing
Borrowing | 13.39% to be capitalised paid Borrowing
(1) (2) (3) 4 1(5=0-(4
1,80,000 24102| 2,04,102| 20,000 1,84,102
2 1,84,102 24651 2,08,753| 20,000 1,88,753
48,753
Accordingly, borrowing cost of ¥ 48,753 will be capitalized to the cost of qualifying asset.
8.
S. No. | Nature of transaction Activity as perind AS 7
1 Cash paid to employees Operating activity
2 Cash paid for development costs Investing activity
3 Borrowings repaid Financing activity
4 Cash paid to suppliers Operating activity
5 Loan to Director Investing activity
6 Bonus shares issued Non-cash item
7 Dividends paid Financing activity
8 Cash received from trade receivables Operating activity
9 Proceeds from sale of PPE Investing activity
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10 Depreciation of PPE Non-cash item

1 Advance received from customers Operating activity
12 Purchased goodwill Investing activity
13 Payment of promissory notes Financing activity

9. As per paragraph 8(b) of Ind AS 40, any land held for currently undetermined future use,
should be classified as an investment property. Hence, in this case, the land would be
regarded as held for capital appreciation. Hence the land property should be classified by
X Ltd as investment property in the financial statements as at 31 March 20X1.

As per Para 57 of the Standard, an entity can change the classification of any property
to, and from, an investment property when and only when evidenced by a change in use.
A change occurs when the property meets or ceases to meet the definition of investment
property and there is evidence of the change in use. Mere management's intention for
use of the property does not provide evidence of a change in use.

(@) Since X Ltd has commenced construction of office building on it for own use, the

property should be reclassified from investment property to owner occupied as at
31 March 20X2.

(b) As per Para 39, transfers between investment property, owner occupied and
inventories do not change the carrying amount of the property transferred and they
do not change the cost of the property for measurement or disclosure purposes.

(c) No. The change in classification to, or from, investment properties is due to change
in use of the property. No retrospective application is required and prior period’'s
financial statements need not be re-stated.

(d) Mere management intentions for use of the property do not evidence change in use.
Since X Ltd has no plans to commence construction of the office building during
20X1-20X2, the property should continue to be classified as an investment property
by X Ltd inits financial statements as at 31 March 20X2.

10. Paragraph 22 of Ind AS 115 provides that at contract inception, an entity evaluates the
promised goods or services to determine which goods or services (or bundle of goods or

services) are distinct and therefore constitute a performance obligation.
A performance obligation is a promise in a contract to transfer to the customer either:
e agood or service (or a bundle of goods or services) that is distinct; and

e series of distinct goods or services that are substantially the same and that have the
same pattern of transfer to the customer.

As per paragraph 27 of Ind AS 115, a good or service that is promised to a customer is
distinct if both of the following criteria are met:
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(@) the customer can benefit from the good or service either on its own or together with
other resources that are readily available to the customer (i.e. the good or service is
capable of being distinct); and

(b) the entity’s promise to transfer the good or service to the customer is separately
identifiable from other promises in the contract (i.e. the promise to transfer the good
or service is distinct within the context of the contract).

Each performance obligation is required to be accounted for separately.

Based on the above guidance, the following table discusses whether the common goods
and services in property sale contract should be considered as separate performance
obligation or not:

Goods/Service Whether a separate | Reason
Performance
obligation (PO) or
not
Common areas Unlikely  to  be [ Common areas are unlikely to be a
separate PO separate performance obligation

because the interests received in
common areas are typically
undivided interests that are not
separable from the property itself.

However, if the common areas
were sold separately by the
developer, then they could be
considered as a  separate
performance obligation provided
that it is distinct in the context of
the contract.

Construction services | Unlikely ~ to  be | Construction services and building
and building material | separate PO materials can meet the first
criterion as they are items that can
be used in conjunction with other
readily available goods or services.

However, the developer would be
considered to be providing a
significant integration service as it
is bringing together all the separate
elements to deliver a complete
building.
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Property management | Likely to be separate
services and  Golf | PO
membership

Property management services and
golf membership are likely to be
separate performance obligations
as they may be used in isolation or
with the property already acquired,
i.e., management services can be
used with the property. These types
of services are not significantly
customised, integrated with, or
dependent on the property. This is
because there is no change in their
function with or without the
property.  Also, a  property
management service could be
undertaken by a third party.

Car park and Land | Analysis required
entilement

ltems such as car parks and land
entittements generally meet the first
criterion - i.e., capable of being
distinct — as the buyer benefits from
them on their own.

Whether the second criterion is met
depends on the facts and
circumstances. For example, if the
land entittement can be sold
separately or pledged as security
as a separate item, it may indicate
that it is not highly dependent on,
or integrated with, other rights
received in the contract. In an
apartment scenario, the customer
can receive an undivided interest in
the land on which the apartment
block sits. This type of right is
generally considered as highly
inter-related  with the apartment
itself.*

* However, if tile to the land is transferred to the buyer separately — for example in a
single party development —then the separately identifiable criterion may be met.

PS: Other facts and circumstances of each contract should also be carefully examined

to determine performance obligations.
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11.  On initial measurement, Entity X will measure the lease liability and ROU asset as under:

Year Lease Present Present | Conversion INR value
Payments Value Value of rate (spot
(USD) factor @ Lease rate)
5% Payment
1 10,000 0.952 9,520 68 6,47,360
2 10,000 0.907 9,070 68 6,16,760
3 10,000 0.864 8,640 68 587,520
4 10,000 0.823 8,230 68 5,59,640
5 10,000 0.784 7,840 68 533,120
Total 43,300 29,44,400

As per Ind AS 21, The Effects of Changes in Foreign Exchange Rates, monetary assets
and liabilities are restated at each reporting date at the closing rate and the difference
due to foreign exchange movement is recognised in profit and loss whereas non-
monetary assets and liabilities carried measured in terms of historical cost in foreign
currency are not restated.

Accordingly, the ROU asset in the given case being a non-monetary asset measured in
terms of historical cost in foreign currency will not be restated but the lease liability being
a monetary liability will be restated at each reporting date with the resultant difference
being taken to profit and loss.

At the end of Year 1, the lease liability will be measured in terms of USD as under:

Lease Liability:
Year | Initial Value (USD) | Lease Payment | Interest @ 5% | Closing Value (USD)
(a) (b) | (c)=(ax5%) (d=a+c-b)
1 43,300 10,000 2,165 35,465

Interest at the rate of 5% will be accounted for in profit and loss at average rate of
%69 (i.e., USD 2,165 x 69) = X 1,49,385.

Particulars Dr. ) Cr.®)
Interest Expense Dr. 1,49,385
To Lease liability 149,385

Lease payment would be accounted for at the reporting date exchange rate, i.e. ¥ 70 at
the end of year 1

Particulars Dr. (%) Cr. %)
Lease liability Dr. 7,00,000
To Cash 7,00,000
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As per the guidance above under Ind AS 21, the lease liability will be restated using the
reporting date exchange rate i.e., ¥ 70 at the end of Year 1. Accordingly, the lease
liability will be measured at ¥ 24,82,550 (35,465 x ¥ 70) with the corresponding impact
due to exchange rate movement of ¥ 88,765 (24,82,550 — (29,44,400 + 1,49,385 -

700,000) taken to profit and loss.

At the end of year 1, the ROU asset will be measured as under:

Year | OpeningBalance () | Depreciation (%) | Closing Balance (%)

1 29,44,400 5,88,880 23,955,520

Journal Entries

Books of Company P

Particulars

Debit ()

Credit ()

Investment in Company B Dr.

To Equity Share Capital Alc (2,500 shares x T 10)

To Securities Premium A/c (2,500 shares x ¥ 77)
(Being allotment of 25 shares each to 100 employees of B

at fair value of T 87 per share)

2,17,500

25,000
1,92,500

Books of Company B

Particulars

Debit ()

Credit ()

Employee Benefit Expense Alc Dr.
To Capital Contribution from Parent P
(Being issue of shares by Parent to Employees pursuant to

Group Share-based Payment Plan)

2,17,500

2,17,500

13. Computation of Goodwill / Capital reserve on consolidation as per Ind AS 103
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Particulars 3
Cost of investment:

Share exchange (50,000 x 25) 12,50,000
Cash consideration 50,00,000
Contingent consideration 9,80,000
Consideration transferred at date of acquisition [A] 72,30,000
Fair value of non-controlling interest at date of acquisition [B] 420,000
(1,00,000 x 35% x 12)

Total [C] = [A] +[B] 76,50,000
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Net assets acquired at date of acquisition [D] (80,00,000)
Capital Reserve [D] - [C] 3,50,000

In a business combination, acquisition-related costs (including stamp duty) are expensed
in the period in which such costs are incurred and are not included as part of the
consideration transferred. Therefore, ¥ 1,50,000 incurred by Nafa Ltd. in relation to
acquisition, will be ignored by Bima Ltd.

Journal entry at the date of acquisition by Bima Limited as per Ind AS 103:

3 3
Identifiable net assets Dr. [ 80,00,000
To Equity share capital (50,000 x 10) 5,00,000
To Securities Premium (50,000 x 15) 7,50,000
To Cash 50,00,000
To Provision for contingent consideration to Nafa Ltd. 9,80,000
To Non-controlling Interest 420,000
To Capital Reserve 3,50,000
14.
Activity Whether in | Remarks
the scope of
Ind AS 41?
Managing animal- | No Since the primary purpose is to show the
related animals to public for recreational purposes,
recreational there is no management of biological
activities like Zoo transformation but simply control of the

number of animals. Hence it will not fall in the
purview of considered in the definition of
agricultural activity.

Fishing in the [ No Fishing in ocean is harvesting biological
ocean assets from unmanaged sources. There is
no management of biological transformation
since fish grow naturally in the ocean.
Hence, it will not fall in the scope of the
definition of agricultural activity.

Fish farming Yes Managing the growth of fish and then harvest
for sale is agricultural activity within the
scope of Ind AS 41 since there is
management of biological transformation of

© The Institute of Chartered Accountants of India



PAPER -1 : FINANCIAL REPORTING 25

biological assets for sale or additional
biological assets.

Development  of | Analysis The development of living organisms for
living  organisms | required research purposes does not qualify as
such as cells, agricultural activity, as those organisms are
bacteria viruses not being developed for sale, or for

conversion into agricultural produce or into
additional  biological ~ assets.  Hence,
development of such organisms for the said
purposes does not fall under the scope of Ind
AS 41.

However, if the organisms are being
developed for sale or use in dairy products,
the activity will be considered as agricultural
activity under the scope of Ind AS 41.

Growing of plants | Yes If an entity grows plants for using it in
to be used in the production of drugs, the activity will be
production of agricultural activity. Hence it will come under
drugs the scope of Ind AS 41.

Purchase of 25 | No Ind AS 41 is applied to account for the
dogs for security biological assets when they relate to
purposes of the agricultural activity.

company’s Guard dogs for security purposes do not
premises qualify as agricultural activity, since they are

not being kept for sale, or for conversion into
agricultural  produce or into additional
biological assets. Hence, they are outside
the scope of Ind AS 41.

15. 1 April 20X1

A financial guarantee contract is initially recognised at fair value. The fair value of the
guarantee will be the present value of the difference between the net contractual cash
flows required under the loan, and the net contractual cash flows that would have been
required without the guarantee.

Particulars Year 1| Year2| Year3| Total
®) ®) ®) ®)
Cash flows based on interest rate of 11% (A) | 1,10,000(1,10,000{ 1,10,000] 3,30,000
Cash flows based on interest rate of 8% (B) 80,000{ 80,000/ 80,000(2,40,000
Interest rate differential (A-B) 30,000{ 30,000{ 30,000{ 90,000
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Discount factor @ 11% 0901 0812 0.731
Interest rate differential discounted at 11% 27,030 24,360| 21,930] 73,320
Fair value of financial guarantee contract (at
|inception) 73,320
Journal Entry
Particulars Debit %) | Credit })
Investment in subsidiary Dr. 73,320
To Financial guarantee (liability) 73,320
(Being financial guarantee initially recorded)

31 March 20X2

Subsequently at the end of the reporting period, financial guarantee is measured at the
higher of:

- the amount of loss allowance; and
- the amount initially recognised less cumulative amortization, where appropriate.

At 31 March 20X2, there is 1% probability that Moon Limited may default on the loan in
the next 12 months. If Moon Limited defaults on the loan, Sun Limited does not expect to

recover any amount from Moon Limited. The 12-month expected credit losses are
therefore 310,000 (10,00,000 x 1%).

The initial amount recognised less amortisation is 351,385 (373,320 + ¥8,065 (interest
accrued based on EIR)) — ¥30,000 (benefit of the guarantee in year 1) Refer table below.
The unwound amount is recognised as income in the books of Sun Limited, being the
benefit derived by Moon Limited not defaulting on the loan during the period.

Year | Openingbalance | EIR @ 11% | Benefits provided | Closing balance
3 3 3
1 73,320 8,065 (30,000) 51,385
2 51,385 5,652 (30,000) 27,037
3 27,037 2,963 (30,000)

* Difference is due to approximation

The carrying amount of the financial guarantee liability after amortisation is therefore
T 51,385, which is higher than the 12-month expected credit losses of ¥ 10,000. The
liability is therefore adjusted to ¥ 51,385 (the higher of the two amounts) as follows:
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Particulars Debit (%) Credit (%)
Financial guarantee (liability) Dr. 21,935

To Profit or loss 21,935
(Being financial guarantee subsequently adjusted)

31 March 20X3

At 31 March 20X3, there is 3% probability that Moon Limited will default on the loan in
the next 12 months. If Moon Limited defaults on the loan, Sun Limited does not expect to

recover any amount from Moon Limited. The 12-month expected credit losses are
therefore ¥ 30,000 (X 10,00,000 x 3%).

The initial amount recognised less accumulated amortisation is ¥ 27,037, which is lower
than the 12-month expected credit losses (3 30,000). The liability is therefore adjusted to
¥ 30,000 (the higher of the two amounts) as follows:

Particulars Debit (%) Credit (%)
Financial guarantee (liability) Dr. 21,385*

To Profit or loss (Note) 21,385
(Being financial guarantee subsequently adjusted)

* The carrying amount at the end of 31 March 20X2 = ¥ 51,385 less 12-month expected
credit losses of ¥ 30,000.

16. (a)

(b)

As per paragraph 66(a) of Ind AS 1, an entity shall classify an asset as current
when it expects to realise the asset, or intends to sell or consume it, in its normal

operating cycle.

Paragraph 68 provides the guidance that current assets include assets (such as
inventories and trade receivables) that are sold, consumed or realised as part of the
normal operating cycle even when they are not expected to be realised within
twelve months after the reporting period.

In accordance with above, the receivables that are considered a part of the normal
operating cycle will be classified as current asset.

If the operating cycle exceeds twelve months, then additional disclosure as required
by paragraph 61 of Ind AS 1 is required to be given in the notes.

As discussed in point (a) above, advances to suppliers for goods and services
would be classified in accordance with normal operating cycle if it is given in relation
to the goods or services in which the entity normally deals. If the advances are
considered a part the normal operating cycle, it would be classified as a current
asset. If the operating cycle exceeds twelve months, then additional disclosure as
required by paragraph 61 of Ind AS 1 is required to be given in the notes.
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(c) Classification of income tax receivables [other than deferred tax] will be driven by
paragraph 66 (c) of Ind AS 1, i.e., based on the expectation of the entity to realise
the asset. If the receivable is expected to be realised within twelve months after the
reporting period, then it will be classified as current asset else non-current asset.

(d) Para 8 of Ind AS 16 states that items such as spare parts, stand-by equipment and
servicing equipment are recognised in accordance with this Ind AS when they meet
the definition of property, plant and equipment. Otherwise, such items are classified
as inventory.

Accordingly, the insurance spares that are treated as an item of property, plant and
equipment would normally be classified as non-current asset whereas insurance
spares that are treated as inventory will be classified as current asset if the entity

expects to consume it in its normal operating cycle.
17. Para 47 of Ind AS 21 requires that goodwill arose on business combination shall be
expressed in the functional currency of the foreign operation and shall be translated at

the closing rate in accordance with paragraphs 39 and 42.

In this case, the amount of goodwill will be as follows:

Net identifiable asset Dr. < 23 million

Goodwill (bal. fig.) Dr. T 1.4 million
To Bank (Purchase consideration) T 17.5 million
ToNCI (23 x 30%) T 6.9 million

Thus, goodwill on reporting date in the books of Monsoon Limited would be
= 1.4 million EURO x ¥ 84 =X 117.6 million.

18. Computation of Expected Return on Plan Assets

Particulars 3
Return on ¥ 10,00,000 for 20X0-20X1 at 10.25% = ¥ 10,00,000 x | 1,02,500
10.25%
Add: Return on ¥ 3,00,000 for 6 months at 10% Normal Rate =

[3,00,000 (Inflow T 4,90,000 less Payments ¥ 1,90,000) x 10% x

6/12] 15,000
Expected Return on Plan Assets 1,17,500

Computation of Actual Return on Plan Assets

Particulars 3
Fair Value of Plan Assets at the year-end — 31 March 20X1 15,00,000
Less: Fair Value of Plan Assets at the beginning — 1 April 20X0 (10,00,000)
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Less: Contributions received during the year 20X0-20X1 (4,90,000)
Add: Benefits paid during the year 20X0-20X1 1,90,000
Actual Return on Plan Assets 2,00,000

Computation of Net Actuarial Gain

Particulars 3
Actual Return on Plan Assets 2,00,000
Less: Expected Return on Plan Assets 1,17,500
Actuarial Gain on Plan Assets 82,500
Less: Actuarial Loss on Defined Benefit Obligation (given) (6,000)
Net Actuarial Gain to be recognized in ‘Other Comprehensive

Income’ 76,500

As per Ind AS 36, the revised carrying amount of asset ASSOTA would be ¥6,50,000.
The tax base of asset ASSOTA is given as ¥8,00,000.

Carrying base of asset = 36,50,000

Tax base of asset =38,00,000

Since tax base is greater than carrying base of asset, so deferred tax asset would be
created on the temporary difference of ¥1,50,000 (38,00,000 — ¥6,50,000) at the given
tax rate of 30%.

Hence, Deferred tax asset for the asset ASSOTA would be ¥1,50,000 x 30% = %45,000.

The goodwill on consolidation of Mission Ltd that is recognized in the consolidated
balance sheet of Vision Ltd is ¥ 30 million (¥ 190 million — 80% x ¥ 200 million). This can
only be reviewed for impairment as part of the cash generating units to which it relates.
Since here the goodwill cannot be meaningfully allocated to the units, the impairment
review is in two parts.

Units A and C have values in use that are more than their carrying values. However, the
value in use of Unit B is less than its carrying amount. This means that the assets of unit
B are impaired by ¥ 24 million (X 90 million — ¥ 66 million). This impairment loss will be
charged to the statement of profit and loss.

Assets of Unit B will be written down on a pro-rata basis as shown in the table below:

(X in million)
Asset Impact on carrying value
Existing Impairment Revised
Intangible assets 10 4) 6
Property, plant and equipment 50 (20) 30

© The Institute of Chartered Accountants of India



30 FINAL (NEW) EXAMINATION: MAY, 2021

Current assets
Total

30
90

Nir
(24)

30
66

* The current assets are not impaired because they are expected to realize at least their

carrying value when disposed of.

Following this review, the three units plus the goodwill are reviewed together i.e. treating
Mission Limited as single cash generating Unit.
following table, given that the recoverable amount of the business as a whole is

The impact of this is shown in the

T 350 million: (X in million)
Component Impact of impairment review on carrying value
Existing Impairment Revised

Goodwill (see note below) 37.50 (23.50) 14.00
Unit A 170.00 Nil 170.00
Unit B (revised) 66.00 Nil 66.00
UnitC 100.00 __Nil 100.00
Total 373.50 23.50 350.00

Note: As per Appendix C of Ind AS 36, given that the subsidiary is 80% owned the
goodwill must first be grossed up to reflect a notional 100% investment. Therefore, the
goodwill will be grossed up to ¥ 37.50 million (T 30 million x 100/80).

The impairment loss of ¥ 23.50 million is all allocated to goodwill, leaving the carrying
values of the individual units of the business as shown in the table immediately above.

The table shows that the notional goodwill that relates to a 100% interest is written down
by T 23.50 million to ¥ 14.00 million. However, in the consolidated financial statements
the goodwill that is recognized is based on an 80% interest so the loss that is actually
recognized is ¥ 18.80 million (X 23.50 million x 80%) and the closing consolidated
goodwill figure is ¥ 11.20 million (¥ 14.00 million x 80%) or (¥ 30 million — ¥ 18.80
million).
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